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General Instructions :
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(ii)

(iii)

(iv)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four
sections — A, B, C and D.

Section A contains 10 questions of 1 mark each, which are
multiple choice type questions, Section B contains 8 questions of
2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 6 questions of 4 marks each.

There is no overall choice in the paper. However, internal choice is
provided in one question of 2 marks, three questions of 3 marks
and two questions of 4 marks.

Use of calculators is not permitted.
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SECTION A

¥o7 G 1 § 10 7% I9%F 597 1 3% # 8 | 599 g 1 § 10 ¥ 9% ¥97 &
o R fawey T @ & A% @ F9@ vF 9@ & | @8 ey ghaw |
Question numbers 1 to 10 carry 1 mark each. For each of the questions

number 1 to 10, four alternative choices have been provided, of which only
one is correct. Select the correct choice.

WW2X2—X—6=O%H§T%

A)
(B)
(C)
(D)

~2,3/2
9, ~3/2
=9, —3/2
2, 3/2




The roots of the quadratic equation 2x> —x -6 =0 are

(A) -2, 3/2
(B) 2, -3/2
w  —2 -8
(D) 2,32

2. I UF GHIR 4 F oAl W (2n + 1) 2, @ IGF 99 A 9 F A

(A) 6n+3

(B) 15

C) 12

(D) 21

If the n® term of an A.P. is (2n + 1), then the sum of its first three
terms is

(A) 6n+3

(B) 15

) 12

(D) 21

3. TWIHFHH% T 13T g | figd & fag Q § 30 W @it T WY W1 PQ
# et 12 30 R | g9 A fren (@) @

A) 25
(B) 313
© b5
D) 1

From a point Q, 13 cm away from the centre of a circle, the length
of tangent PQ to the circle is 12 cm. The radius of the circle (in c¢m)
is

A) 25
(B) 313
o B

(D)
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4. 3 1%, AP, AQ @1 BC 99 oI @3 W@t § | afg AB = 5 ¥, AC = 6 &
a9 BC = 4 ¥ &, @ AP & oerg (3 #) 2

(A)

(B) 15
(C)- 10
D) 9

In Figure 1, AP, AQ and BC are tangents to the circle. If AB = 5 cm,
AC = 6 cm and BC = 4 c¢m, then the length of AP (in cm) is

A

Figure 1
(A) 175
B) 15
£ 6 (N 1

(D). 3

30/1 4




T g9 & oRfy 22 Fft 2 | 39F Squlwr & &e (I I H) @

A) %
(B) %
(©) 7—87 -
(D) %

The circumference of a circle is 22 cm. The area of its quadrant (in cm?)
is

@ I
(B) %
(C) %
@ %

TH 3 T gUE T S I AR & d@ed § g S, UF & SMER &
U T& ad g0 & 9E  FET T8 | 39 YHR TW SR UG F e H R

VF & AT ¥ UG 8

A 1z 2
B) 1:4
(C) 1:6
M 1:8

A solid right circular cone is cut into two parts at the middle of its

‘height by a plane parallel to its base. The ratio of the volume of the

~ smaller cone to the whole cone is

30/1

By 1:2
B) 1:4
i) -1:6
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L F FIE W60 . e S W Tt Y IT W R | T
7R gU 6 S HE de A R, 6 H g W IH w7 @

B) 30°
(C) 60°
) 9

A kite is flying at a height of 30 m from the ground. The length of string
from the kite to the ground is 60 m. Assuming that there is no slack in the

string, the angle of elevation of the kite at the ground is

(A) 45°
(B) 30°
(C) 60°
(D) 90°

fog (=3, 4) & X-Wﬁfgﬂé

A 3
(B) -3
C) 4
D) b

The distance of the point (— 3, 4) from the x-axis is

a) 3
B) -3
© 4
D 5



9. a2, fog P(5, —38) 741 Q(3, y), 53Tl A(7, —2) @41 B(1, - 5) & firem=
A TErEvE & GHOWIRTG SXd 8 | d y SR @

A P Q B
SIFIT 2
(A) 2
B) 4
C -4
(D) =2
2

In Figure 2, P(5, —3) and Q(3, y) are the points of trisection of the
line segment joining A(7, —2) and B(1, —5). Then y equals

A E SN
Figure 2
(A 2
(B) 4
CcC) -4
® -2

10. m%ﬁmémmz,s,ax,...,lm@ﬁaim%|ﬁﬁﬁ@mﬁmqmﬂé
e T 7 | e T S W US 9SS @A 89 & Wifasdr @

@ 2
® 2
©) %
(D) %
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11.

12.

13.
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Cards bearing numbers 2, 3, 4, ..., 11 are kept in a bag. A card is
drawn at random from the bag. The probability of getting a card with
a prime number is

1
A =
(A) 5
2
B i
(B) 5
3
C =
(C) 10
_ 5
D s
(D) 5
@ug q
SECTION B

Y97 G 11 § 18 7% JAUF 97 F 2 3% & |

Question numbers 11 to 18 carry 2 marks each. _

p F T AH T HSC T AU FfE0T px(x —2) + 6 =0 F TA AN & |
Find the value of p for which the roots of the equation

px(x—2)+ 6 =0, are equal.

a 3H gl frder eIl 3 9 fausg § 2

How many two-digit numbers are divisible by 3 ?

%ﬁrsﬁ,@wﬁmﬁﬂﬁmc,rﬁma@%%mw%laﬁ%w
BC & dargal a3r 8 I @71 6 Uit &, o r & WF @ HHAC |

A




In Figure 3, a right triangle ABC, circumscribes a circle of radius r.

If AB and BC are of lengths 8 cm and 6 cm respectively, find the
value of r.

A

Figure 3

14. fog 3fve 5 fodt o0 & v o9 & ol w @ T ooyl Ward, g9 2§

Prove that the tangents drawn at the ends of a diameter of a circle
are parallel.

15. 3TF 4 ¥, ABCD, 4 T ST a1 UH a7 ¢ | a7 & Woush ¥ W 1 9 =
F ga & gqaie e T, a2 9 S w1 UE g9 f g T @ | swEifEa
9AT & STBA G T | (1 = 3-14 Q)

e
Lz,

ST 4

Agar

FS & STAAIHR ERX H T e ABCD, /98 AB = 40 ¥ 991 AD = 28 4
2 % ¥ BC & =9 qHa T Hgd 90 1 forar Sar 8 | 99 59 SO &

mmml(m%aﬂm)
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16.

17.

18.
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In Figure 4, ABCD is a square of side 4 cm. A quadrant of a circle of
radius 1 cm is drawn at each vertex of the square and a circle of diameter
2 cm is also drawn. Find the area of the shaded region. (Use n = 3-14)

i
\n7/ &

Figure 4

OR

From a rectangular sheet of paper ABCD with AB =40 cm and
AD = 28 cm, a semi-circular portion with BC as diameter is cut off. Find

the area of the reméining paper. (Use t = %)

10-5 ¥t B & & 219 i & fiEen s ¥R 39 g e T, S g
F s 3-5 Wt g FaE 3 W 2 | 3@ YGR a4 vgsh & G g S |

(n=i—2?'|°ﬂ:_ﬂ)

A solid sphére of radius 10-5 cm is melted and recast into smaller solid
cones, each of radius 35 cm and height 3 ¢cm. Find the number of cones

so formed. (Use ©t = 2?—2)

o fag P2, 4), fgat A5, k) @1 Bk, 7) ¥ ¥9F T W 8, & k & 99 I
FINT |

Find the value of k, if the point P(2, 4) is equidistant from the points
A(5, k) and B(k, 7). '

52 T H IS YHR W H E AW A TH T H ¥ I TH T A
T | WAl §d e & e T g

(i) o a1 w2

(i) TF 9T FgET TAW 2 |

A card is drawn at random from a well-shuffled pack of 52 cards. Find the
probability of getting

(i) a red king.

(ii) a queen or a jack.

10




19.

20.

21.

22,
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SECTION C

Yo7 & 19 T 28 TF IUF T F 3 3F & |
Question numbers 19 to 28 carry 3 marks each.

frfafiad feord 990 &1 x & fou & Sifse -
x> —dax —b> +4a% =0
JYgar
afe & FFE FEE H OANGE 8 q° A 15 3, 9 T ¥ HSC |
Solve the following quadratic equation for x :
x” —4ax —b® + 4a> =0
OR

If the sum of two natural numbers is 8 and their product is 15, find
the numbers.

500 3R 900 & d19 fyq 7 & wff ST & ARG T HINTC |

Find the sum of all multiples of 7 lying between 500 and 900.

™ s ABC AT S ST BC = 7 9, /B =45° a9 £ C = 60° 8 | il
% 3 S & @ SIS SEel Sl A ABC & g st & g-ﬂfﬁ‘@fl

Draw a triangle ABC with BC = 7 ecm, £ B = 45° and £C = 60°.

Then construct another triangle, whose sides are g times the

corresponding sides of A ABC.

agfa 5 #, A PQR, @ PQ = 10 ¥, QR = 8 9t @& PR = 12 ¥ 8, &

3fiq T g9 a @ T 2 | QM, RN d@1 PL # SEEat 919 #ISC |

P

11 P.T®.



In Figure 5, a circle is inscribed in a triangle PQR with PQ = 10 cm,
QR = 8 cm and PR = 12 c¢cm. Find the lengths QM, RN and PL.

P

ST 6

a@ﬁrfrﬁ,zr&ABCanaﬁ%,fmﬁgmM@ﬂ%aaTAPDaﬁtBPca

aﬁg;%,ﬁ}mméﬁw%awmﬁm|
B

ST 7
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In Figure 6, O is the centre of the circle with AC = 24 ¢cm, AB=7cm
and £ BOD = 90°. Find the area of the shaded region.
[Use n = 3-14]

Figure 6

OR

In Figure 7, find the area of the shaded region, if ABCD is a square
of side 14 em and APD and BPC are semicircles.

A : B

Figure 7

24, Q@lﬂ\ﬂidﬁcﬁ Bar arell U MR 59, I @ 90 @ | 39 9 & 6 9
Fafis a1 a1 TF SoER 9dq § STl 747 | SR §d9 § 9 & H9E 3d
FIST | - .

A hemispherical bowl of internal radius 9 cm is full of water. Its
contents are emptied in a cylindrical vessel of internal radius 6 cm.
Find the height of water in the cylindrical vessel.

30/1 13 P.T.0.



25.

26.

27.

28.

30/1

603 H. I TE T F T ¥ TF HAR F R 99 U F G 07
FIE 45° 3R 60° & | HAR F IR Fa FHC |

The angles of depression of the top and bottom of a tower as seen

from the top of a 60+/3 m high cliff are 45° and 60° respectively.
Find the height of the tower.

fagali A(-2, —2) @1 B(2, - 4) F e Tt t@revs W & U fag P& e
srmm'rraq,ﬁsAP:%ABsh

HYAT

39 9gys ABCD # &7%a yid &iwe fiws ¥ A(-3,-1), B(-2, -4),
C4,-1) @ D(3, 4) § |

Find the coordinates of a point P, which lies on the line segment

joining the points A(- 2, —2) and B(2, —4) such that AP = g AB.

OR

Find the area of the quadrilateral ABCD whose vertices are
A(-3, -1), B(-2, —4), C(4, - 1) and D(3, 4).

afe fag A(x, y), B(3, 6) T4 C(- 3, 4) W& &, @ TWEC fF x — 3y + 15 = 0.

If the points A(x, y), B(3, 6) and C(-3, 4) are collinear, show that
x -3y + 15 = 0.

.52ﬁaﬁﬁmaﬁﬁﬂ'§ﬁﬁ@mﬂqlwta, ST G S 9l feU W | Y a9

T B el FER % & UvEI 396 ¥ UF T @en T | MiEskdr @ S &
fepre T

() UF F T H q@R aer = 2

(i) US o 7 &7 91 @ |

All kings, queens and aces are removed from a pack of 52 cards. The
remaining cards are well shuffled and then a card is drawn from it.
Find the probability that the drawn card is

(i) a black face card.

(ii) a red card._ .

14
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SECTION D

T T 29 T 34 TF JF JT F 4 HF & |

Question numbers 29 to 34 carry 4 marks each.

29, TERE H M IHF W A 3FA 2 | A B F W F 1 Se foar Sw, d B @
m%ma‘rw%aﬁﬁwaﬂﬁq|

Fgan
2800 feft &1 za$ amT ¥, WUE WEE F T g69E SES & MG B9 R G R |
IGH IEd fa 100 fedt wfa Her ®H 9 W ITH & 999 30 e s@ S
2 | TOE I F g 99T T A |

The numerator of a fraction is 3 less than its denominator. If 1 is
added to the denominator, the fraction is decreased by Ilg Find the
fraction.

OR

In a flight of 2800 km, an aircraft was slowed down due to bad
weather. Its average speed is reduced by 100 km/h and time
increased by 30 minutes. Find the original duration of the flight.

30. 39 THR I & GE R FE ST fS9H 99 U2 5 2 q97 I9F YUY IR U &
INTHA, I TR GG & ITH H I E |

Find the common difference of an A.P. whose first term is 5 and the
sum of its first four terms is half the sum of the next four terms.

31. g T & 39 & o5l o g @ 99 | @ = ol Wl &t deat gue
Bt ¥
Prove that the length of tangents drawn from an external point to a
circle are equal.

30/1 15 P.1.0.




32.

33.

34.
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waﬁw%&ﬁ@m%,%ﬁqmmm%ﬁaqﬁmaﬁ
Y Tl R ST W@ R | F T R 39 3% Sl 3T @iell aXd W fehder §Ha
T, A SF F R F oA 3 H. B |

HAYAT

U 99 el T e 14 99 3R 99 U UE & fOAE F STER H @ | 39S
2 gER R & =9 4 W SR 2 ¥ € | 39 O # giar wa st |

[75:—2E wfera]

7

A hemispherical tank, full of water, is emptied by a pipe at the rate

of %g litres per sec. How much time will it take to empty half the

tank if the diameter of the base of the tank is 3 m ?
OR

A drinking glass is in the shape of the frustum of a cone of height
14 c¢cm. The diameters of its two circular ends are 4 cm and 2 cm.

Find the capacity of the glass. [Use n = %]

@ ¥ (afaed) 32 &t 3o SOk 825 M. 2 | IHH AN & 9w gad
JIER 2 9 YR & =9 30 #9941 F9E 5.5 @ 8 | 39 W Il MR &
IE F TE T gOT VF FARGT € | TW 2 H aA F o 1.5 . dGeR &
FAIY H daE 9 ST |

A military tent of height 825 m is in the form of a right circular
cylinder of base diameter 30 m and height 5-5 m surmounted by a
right circular cone of same base radius. Find the length of the canvas
use in making the tent, if the breadth of the canvas is 1-5 m.

TH 60 W. Fd W & MR 4§ & oc-3R¥ & R a9 U8 & 3934 a7l
AT 0T HEIE 30° TUT 60° § | A BT

()  MEC-ERY 991 WEd & SEEd # S |

(i) TIEC-TRY AW WIT & a9 H I |

The angles of elevation and depression of the top and bottom of a

light-house from the top of a 60 m high building are 30° and 60°

respectively. Find

1) the difference between the heights of the light-house and the
building.

(ii)  the distance between the light-house and the building.
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